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Ques - The income of A 1s 70% more than the income of B, and the income of C is
80% of the combined income of A and B. By what percentage is the income of A
less than that of C? (Correct to one decimal place)

AT 3 B, I " 70% ek €, 3R C ol AW, A 3R B 3l §IH A Al
80% =1 A &l I, C i I & Teha Uferd &0 87 (S o Toh TIH T Gel)

a) 27.1%
b) 20.4%

(\_m\j c) 21.3%
AN =g N} gy iy
SR d) 19.8%
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Ques - A shopkeeper sells an 1tem for 1,638 after offering a discount of 16% on
its list price. Had he not offered any discount, he would have earned a profit of
30%. What 1s the cost price (in %) of the article?

Ueh ST Ueh ] shi 38k &l qed W 16% =l 92 <t 1,638 &qd o sf=ra 2
afe 38 g B 71 &8It A 34 30% AT AT BTl ST T 6T A (TR H)
fopaT 27

a) 1,500
b) 1,425

(\—..—.\j c) 1,400
(s t=il gk
VN d) 1,450
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Ques - Somu has borrowed ¥10,000 from a money lender with simple interest at a
rate of 7% half yearly. How much amount will he pay to the money lender after 3

years?

| - Toh WEhR | 7% 6t eaites g @rene sae W 10,000 w9 34r iy
98 3 N SIS WIgehR ohl TehelT GRRIIRT ST AT T ?

a) ¥13,000
b) %14,200

(\-m \j c) ¥12,500
ooy
N d) %12,100
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Ques - What 1s the least 6-digit number that 1s divisible 71?
6 i FI I8 T Dt T&AT b @ 2 S 71 T forrsa 27

a) 100039
b) 100037

(Q_ﬂr,\§> ¢) 100041
(=gl
= d) 100035



SSC CHSL 2022-23

Ques - Ifa+b+c=5anda’+b’+c’ - 3abc = 185, then the value of ab + bc + ac
lies between:

qfda+b+c=58 AN a’+ b’ + ¢’ - 3abc = 185 &, @l ab + be + ac FT A fhdH
= grm?

a) Sand9
b) -3 and ]

(\'Il'l \j ¢c) land5
(ot Eu) 10
\$\_T d) -7and-3
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Ques - What 1s the simple interest on a sum of Rs. 99,000 at 12.5% per annum for
a period of 9 months?

99,000 w9 &t Tfsr 9w 12.5% 9fd a9 i et & 9 7 it 1afer & fofw aremor

SITST TohaAT 22

a) Rs. 8,281.25
b) Rs. 9,281.25

(\_“_,\/j c) Rs.9,282.25
el L
N d) Rs.7,28125



SSC CHSL 2022-23

Ques - In a bag, white mobile covers and black mobile covers are 1n the ratio of 4 :
7. If there are 280 black mobile covers, then how many white mobile covers are
there 1n the bag?

Teh ST H, | HISTEA ol 3R hict Hismsed hol 4 @ 7 o Fqurd 1 & afe 280
FTT TS el 8, df ST T foha- Tthe WS ol 872

a) 158
b) 160

(\_“_,\/j ¢) 156
=) it
\ - d) 154
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Ques - If 3u + 2v =7 and uv = 2, then the value of (3u - 2v) is:
??Iﬁ{3u+2v=73ﬁ'{uv=2,?ﬁ(3u-2V)WﬂWaﬂT%?

a) 1

b) 2
\\’,*'—— NS i ;
( CLi) \> )
e //1" d) 5
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Ques - By selling 92 kg of wheat, a person gains the selling price of 12 kg of it.
His gain percentages is:

02 TR TIE SIe WX Ue ATk i 58eh 12 oAU o Torshal T ST AT BIAT &l SEeh
AT T 77

a) 12%
b) 15%

7 /2N 0
N d) 16%
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Ques - An article 1s sold for Rs. 372 after two successive discounts of 25% and
38% on its marked price. Total discount (in Rs.) 1s:

Ueh S ol 38k 3fehd Hed W 25% AR 38% it shiveh ¢ o o€ 372 T9d |
SIS 81 e D¢ (¥ H) foheT &7

a) 380
b) 420

¢) 400
{20
/\’/“i\ S /’.'/\A:\ d) 428
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Ques - AB and CD are two chords of a circle that intersects at E inside the circle. If
ZBEC = 125° and ZEBD = 28°, then what is the measure of ZBAC?

AB 3 CD T I it 31 Sfiamd & ST 97 o 3fet E W Ufd=eg et 8 Ifs LBEC =
125° 3 LEBD = 28°, Al ZBAC %l 119 T 87

a) 87°
b) 55°

77\ c) 56°
L {20)
A\ d) 97°
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Ques - The perimeter of a rhombus is 148 cm, and one of its diagonals 1s 24 cm.
The area (in cm?) of the rhombus is:

T gH=qs 1 g 148 gt 8, 3R 58eh U foskol 24 @t 31 Gu=qys

ke (T2 o) ferem 27

875
700
840
770



SSC CHSL 2022-23

Ques - Ashok completes a journey in 7 hours. He travels the first half of the
journey at the speed of 24 km/h and the second half of it at the speed of 32 km/h.
The total distance of the journey is:

31211k Teh FTAT <l 7 & H U LT 8| 8 AT o Teed T8 9T skt 24 fepeft/sier sh
il | S UL A1 9T <kl 32 feheli/sier sht i & I <hiell =1 AT oAl et gl
foraHt 287

a) 194 km
b) 188 km

/e \ ¢) 190 km
Lo TS,
Yo L L e d) 192 km
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Ques - Rita spends 25% of her monthly income on house rent and 30% of the

remaining income on food. If she saves Rs. 5,250, what 1s her monthly income?

Ear A9t ATk AT T 25% =) o for ot 3T 3w 37 &7 30% Hise | @H
FdT Bl I 7 5,250 T =Tl ], A1 SHh! ATfHeh 3T 1 =7

a) Rs. 16,000
b) Rs. 12,000

\g/ ¢) Rs. 14,000
Lof AT
NoE2 d) Rs. 10,000
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